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CERTIFICATE IN SHOE LASTING AND
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O
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OET-031 : BASICS OF LASTING
TECHNOLOGY
Time : 2 hours Maximum Marks : 100

Note : Answer any ten questions. Answers must be given to

the point.

What are the functions of foot ? How many types

of arches are found in human foot ? Illustrate
with a labelled diagram. 3+2+5=10

How many measurements are important for shoe
sizing ? What are the basic differences between
UK and French size scale ? Calculate equivalent
UK adult size 9 to French size. 2+5+3=10

Describe function of the following parts of a
footwear. , 2x5=10

(a) Vamp.

(b) Back strap.

(c) Saddles and Bars.
(d) Insole.

() Toe puff.
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4,  Fill in the blanks. 10x1=10
(a) The largest bone in the human foot is

(b) For tack Lasting the last must have

(c) For the softening of solvent deep counter

is used.
(d) Welted construction is __________
construction.
() Moccassin is lasted footwear.
(fy  Softening of upper is called
(g) Runner is used in construction.
(h) Scouring is performed with the help of
(i) Toe band is a part of M/C.
(G) Mckay Stitchingis stitch in
nature.

5.  Write down the function of the following operations.

(@) pattern cutting. 2x5=10
(b) clicking.
(c) closing.
(d) lasting.
(e) finishing.
6. Describe in detail about shape of upper. 10

7.  What is the role in grinderies in scouring and
roughing ? What are the other operations in
which such grinderies are used ? What is grit of
an abbrassive ? 4+3+3=10

8.  Give reasons for the likely failures of the sole and 10
the upper bonding.
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10.

11.

12,

13.
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Tick True (T) or False (F).

(@)
(b)
)
(d)
(e)

)

Phalanges Consists of 14 Bones.
Wing cap is a bottom component.
Anterior metatarsal is a bone in the
human foot.

Stiffener is placed in the back part of
a foot wear.

Ultrasonic staples are used for plastic
heel attachment. A
Chiller is used after heat setting
operation.

Silicon Carbide is used for
manufacturing of emery paper.
Deep roughing results in sole
attachment failure.

Lasting UP process is followed in
California construction.

Sole is pre stitched with upper in Omic

method of construction.

1x10=10

)

What is the importance of sole pressing operation
in shoe making ? Describe the function of at least
two types of sole pressing M/C’s. Describe carbon
paper test.

Write a note about the storage of primers.

Write down the pullihg cycle of a Toe and
Forepart lasting M/C.

Draw a chart for constructional variations in
veldtschoen construction.

3+4+3=10

10

10

10
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10.

11.

12.

13.
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